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Language — SANSKRIT — Paper II

( Prose, Drama, Grammar and Translation )

Time Allowed : 2 % Hours | [ Maximum Marks : 100

I1.

SECTION - A

Answer any three of the following questions in about 200 words each : 3 x 8 = 24

i)

What is the moral of the lesson WYaTa7q ?

) Justify the relevance of Sanskrit to Modern Science.

i) 3fa sufevg SUIH — Summarise the advice of Sukanasa.

iy} Give an account of the conversation that took place between Duryodhana
and Vasudeva.

vl How did Ceta inform the arrival of Vasantasena to Vidushaka.

Explain any four of the following with reference to the context : 4x5=20

) WERW: UE vt WIS ST |

i) SOOHR: IUEE 9OE WdEA |

i) e @ify vl gg T W A |

) g fEagE zfoem mﬁqum |

v) T3 igW gfén srami v |

vi) WeTErEH: e A wE faeEtd |

[ Turn over
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II. a8 Conjugate fully any three of the following : 3x2=6

) YE— toread — T WHER — Il Future Tense.
i) 9= — to contemplate —HETHR — Imperfect Past Tense.
#) ¥F— to serve — e SIS — Present Tense.

tv) 94— to dance —TE WK — Imperative Mood.

b) Decline fully any one of the following : 1x5=5
) =Y
#) W
i) T

c) Decline as directed any five of the following : 5%x1=5

) 9% - YfEF — w9 w@s=T] — Nominative Singular.

) 99— fifian fgg= — Accusative Dual.

) & — A 9ga9T — Instrumental Plural,

tv) fFq— efifed — wgefl tva= T — Dative Singular.

v) g — Wiiferf — vsaHt teE=T — Ablative Singular.
vi) &9 — qfed — =i 959979 — Genetive Plural,

vil) ¥9q — FGHl TFE=TH — Locative Singular.



IV. a)

b)

c)

3
SECTION - B

Transiate the following passage into English :
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wafaoad gafa: gafe: 3 2 aforh srem | & e T weeH s st
TR WHIY Feafan oy 7 wiE g ffes 1 sreea | o weier 3
ﬁm:wnﬂlﬁq&imwﬂ#mw | 3= grafy o TR e S A
w:mﬁﬁﬁﬂ#mrmm:mm“wmqﬁmm,
o A ae " s | e feueaet wwifumifol T ) Wege wer gt |
unifusrt srg=ed ' af wig ad= 2 sfa | gafe: v ufe TEes | gEfew

T weaHE Feaar: wafhy: ' s e |

Translate from English to Sanskrit any five of the following sentences :

God is everywhere.

There are no trees in the garden.

They are pleased with good conduct of the boy.
He did not like my advice.

Cold from fire is not possible.

Water flows from that pond.

She makes a garland with the flowers.

sgaszees

Translate the following sentences from Sanskrit to English :

) T4 wE o g |

) TE A TS |

i) W = EE W

tv) Tog wrafa yufa:

v) B o gu w9afd |

vi) TR S gfeg: i witnre Fa |
vil) TaEH TEHEE A |

vit) &l wel 7 fa=Ey |

ix) TEEF My At el |

x i ey o 9wfa o

) Without exertion man does not get his desired object.

bx2=10

Bx1l=8

I TPawrs . Farase
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SECTION - C

V. Read the following passage and answer the questions given below in Sanskrit :

6x2 =1

ﬁi{dmﬁﬁéﬁmvﬁ? |a%aﬁ%amaﬁﬁwwm— "y fare
e v, R fe st wd sffa oh | TET A W= g s
forafa fif=m 3 & aferam: | T Y IS W G I TR ek et fr 7 sen
TIE AT | 71 FE= e “ufi e ; o firen fr SweeR of | STTIYATER:
H: AU e 48 8 vee 'Y e, i vt frefufirta ? TR T G S

Tve: {5 = o ? ST SYETaE: ST qfe " T |
T

) B el femef 5= w2

) T uF: e awrag ?

) TEE ge e e 2

v) T T I F: H e b @ s 2

V) WEE e f srEeq ?

vi) ¥ i T I vear 2




